
You need  toy money

16

Change in Thinking

Giving change

Activity One
If you buy this drink with a $2 coin,

Mr Patel works out your     Mrs Grey works out your  
change like this:      change like this:

$1.20

1. Which way would you use to work out the change 
you should get?

2. Why?

Activity Two
Work out the change for the things in this table:

$1.20 ... $1.30 ... $1.50 ... $2.00

10c + 20c + 50c = 80c

10c     20c   50c 
$2.00

– $1.20

$0.80

     Item Money given Change

$1.20

3 for $2.70

$5.50

$3.55, 55c

$3.30

80c
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?

?

?$4  

$2

$4

$10

$5
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